### Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

3,995 3 999

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
lan John CAMERON	Scottish Labour Party	1,313
Rod CAVANAGH	Scottish National Party (SNP)	924
David HANSEN	Scottish Greens - Think Global Act Local	172
George MACDONALD	Scottish Labour Party	273
Walter NEILSON	Sovereignty	41
Nicola PATRICK	Scottish National Party (SNP)	687
Wink THOMPSON	Scottish Liberal Democrats	116
Richard WATT	Scottish Conservative and Unionist	469
	Total	3,995

Candidate Ian John CAMERON Elected with 1,313 votes, being in excess of the quota of 999

Ward 12 - Kirkcaldy East

### Transfers Report

This report contains the transfers results.

# Stage 2 - Surplus of Ian John CAMERON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Rod CAVANAGH	84	0.23914	20.08776
Transfer to David HANSEN	35	0.23914	8.36990
Transfer to George MACDONALD	992	0.23914	237.22688
Transfer to Walter NEILSON	10	0.23914	2.39140
Transfer to Nicola PATRICK	28	0.23914	6.69592
Transfer to Wink THOMPSON	30	0.23914	7.17420
Transfer to Richard WATT	29	0.23914	6.93506
No further preference	105	0.23914	25.10970
Not transferred due to rounding			0.00918
	Total		314.00000

### Transfers Report

This report contains the transfers results.

### Stage 3 - Exclusion of Walter NEILSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Rod CAVANAGH	6	1.00000	6.00000
Transfer to David HANSEN	6	1.00000	6.00000
Transfer to George MACDONALD	2	1.00000	2.00000
Transfer to Nicola PATRICK	3	1.00000	3.00000
Transfer to Wink THOMPSON	10	1.00000	10.00000
Transfer to Richard WATT	4	1.00000	4.00000
Transfer to George MACDONALD	2	0.23914	0.47828
Transfer to Wink THOMPSON	3	0.23914	0.71742
Transfer to Richard WATT	1	0.23914	0.23914
No further preference	10	1.00000	10.00000
No further preference	4	0.23914	0.95656
Not transferred due to rounding			0.00000
	Total		43.39140

### Transfers Report

This report contains the transfers results.

# Stage 4 - Exclusion of Wink THOMPSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Rod CAVANAGH	5	1.00000	5.00000
Transfer to David HANSEN	24	1.00000	24.00000
Transfer to George MACDONALD	23	1.00000	23.00000
Transfer to Nicola PATRICK	5	1.00000	5.00000
Transfer to Richard WATT	35	1.00000	35.00000
Transfer to David HANSEN	4	0.23914	0.95656
Transfer to George MACDONALD	15	0.23914	3.58710
Transfer to Nicola PATRICK	2	0.23914	0.47828
Transfer to Richard WATT	7	0.23914	1.67398
No further preference	34	1.00000	34.00000
No further preference	5	0.23914	1.19570
Not transferred due to rounding			0.00000
	Total		133.89162

# Transfers Report

This report contains the transfers results.

# Stage 5 - Exclusion of David HANSEN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Rod CAVANAGH	55	1.00000	55.00000
Transfer to George MACDONALD	36	1.00000	36.00000
Transfer to Nicola PATRICK	69	1.00000	69.00000
Transfer to Richard WATT	7	1.00000	7.00000
Transfer to Rod CAVANAGH	5	0.23914	1.19570
Transfer to George MACDONALD	13	0.23914	3.10882
Transfer to Nicola PATRICK	4	0.23914	0.95656
Transfer to Richard WATT	3	0.23914	0.71742
No further preference	35	1.00000	35.00000
No further preference	14	0.23914	3.34796
Not transferred due to rounding			0.00000
	Total		211.32646

# Transfers Report

This report contains the transfers results.

# Stage 6 - Surplus of Rod CAVANAGH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Nicola PATRICK	861	0.01214	10.45254
Transfer to Nicola PATRICK	20	0.00290	0.05800
No further preference	79	0.01214	0.95906
No further preference	32	0.00290	0.09280
Not transferred due to rounding			0.00676
	Total		12.28346

# Transfers Report

This report contains the transfers results.

# Stage 7 - Exclusion of Richard WATT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George MACDONALD	192	1.00000	192.00000
Transfer to Nicola PATRICK	10	1.00000	10.00000
Transfer to George MACDONALD	16	0.23914	3.82624
Transfer to Nicola PATRICK	4	0.23914	0.95656
Transfer to Nicola PATRICK	1	0.00290	0.00290
No further preference	313	1.00000	313.00000
No further preference	20	0.23914	4.78280
No further preference	1	0.01214	0.01214
No further preference	1	0.00290	0.00290
Not transferred due to rounding			0.00000
	Total		524.58354

### Transfers Report

This report contains the transfers results.

# Stage 8 - Exclusion of George MACDONALD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Nicola PATRICK	100	1.00000	100.00000
Transfer to Nicola PATRICK	159	0.23914	38.02326
Transfer to Nicola PATRICK	22	0.01214	0.26708
Transfer to Nicola PATRICK	17	0.00290	0.04930
No further preference	426	1.00000	426.00000
No further preference	879	0.23914	210.20406
No further preference	27	0.01214	0.32778
No further preference	18	0.00290	0.05220
Not transferred due to rounding			0.00000
	Total		774.92368